[2] D-3014

RO NO. covervversesrssesnsseners () Shows 1@ RS % R o1 R
Explain an idea of maxima and minima.
IR
(Or)
(31)  CTEpTUTe WRVT S WERAT W A A B
D_3014 (36.71 x 0.8246) + 546
Find the value with the help of logarithm tables :
B. Com. (Part I) EXAMINATION, 2020 (36.71 x 0.8246) + 546
(Old Course) (@ afe:
(Group—I : Accounting) log 5=0.6990
Paper Second o,
BUSINESS MATHEMATICS log %/z 12532571 x12574/3
Time : Three Hours | [ Maximum Marks : 75 BT {1 gdRT |
e Wi i ol % S AR IR ST W U@ o o =
Jfard | Wl yE & ofF WM © | aETG ARt T log 5 =0.6990
UM% YUY A OF fed SR | then find the value of :
il e o s o g fom e S
table and graph paper will be supplied on demand. TPE—2
TPE—1 (UNIT—2)
(CRIT—L) 2 (@) fig B fr
1 (@) P we @ g 2 g vz ey x
.dxz z+x y+z y:x3+y3+z3—3xyz
:g;“;;))? X+y z+4+x z
@ . . Prove that :
Find —= for the following function :
dx y+z x+y x
(2x —1) z+x y+z Y =X+ +23 -3z
C Bx+2)? xX+y z+x z
(A-46) P. T. O. (A-46)
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[3] D-3014 [4] D-3014
@ 3fe: What do you understand by Linear Programming ? Describe
5 7 origin and development and importance of Linear
A= [3 _2} Programming.
B 2 3 el
57 (or)
g, @ AB T FIRT | (@) <1 WIEAT B aAEE MY 3 - 4 & AU H T ufg v
If- Ugel DT AMY 57 & AU # 2| I THA Y
R |
A= 3 2 The present age of two brothers are in the ratio of 3 : 4.
Five years back their ages were in the ratio of 5 : 7.
2 3 . .
B = { } Find their present ages.
5 7
g AB @ BR T e 39D doH & o & WAM faER e )
n .
1 1
- 356?%3%?%@3“&@5@1?400&3#52
©or) BYE IO T TF G ER I e 1 B |
frrforfa e A @l Y el T I - The price of a diamond varies directly with the square
(2 -2 3]
of its weight. If the price of a diamond weighing 3l
A=l1 0 -3 2
3 4 0 carat is ¥ 400, find the price of another diamond
o 1
Find the inverse of the following matrix : weighing 5 7 carat.
(2 -2 3]
A=l1 0 -3 T
13 4 0] (UNIT—4)
TPE—3 4 (@) T 2,000 FT 5% TMqhg =N B R H PR T 2,205
(UNIT—3) T T, @ 9T S I |
3. Y€ YHEE W 30 R GES ¢ 7 ST IART q fawr aqem A sum of T 2,000 becomes ¥ 2,205 @ 5% per annum
ST DI AR BIFTT | compound mterest, find the time.
(A-46) P. T. O. (A-46)
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ol &aF @1 8% aMMid Thglg & @ & W TR qY
T Al S T 54 §| UG T BT TS IARY | ok
GUECIS

The compound interest of a sum of money at 8% for

2nd year in ¥ 54. Find the interest for first year. Find

the principal also.

3rerT

(Or)
WY Th BUE W 39 ud W wded € 5 @
% 34,560 3R SR TAT & ART BT M Toel aU RN
T Y B I A BNT| G <F AHGG @G D AU
8% qTMGH § DI WA §, AT TAH FT 7D Jod T GAN ?

Umesh purchases a printing machine on the condition
that he will pay ¥ 34,560 now and equal sums will pay
at the end of first year and at the end of second year. If
the compound interest is calculated 8% yearly, find the

cash price of the printing machine.

% 10,000 F FH <elifoad oot W @dier mar| afe
T T FTAH 10 T9F aiffs fedt # far omr @ sl
10% dIfid amgle e 1 ol 8, a1 yd fhwd
fore vual @1 Rl ?

A colour television worth ¥ 10,000 is purchased on
instalment plan under which 10 equal instalments

including compound interest at 10% per annum are

payable. Find the amount of annual instalment.

(A-46) P. T. O.
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TIR—5
(UNIT—5)
TF AT A 40 #9f T 88 3N oI W TLIGT IR S
I gFER A 20 SR A SAEA T 106 BN X H TR |
T 71 B SN od qaTsy |
A person bought 40 tables at an average price of I 88
per table. He bought similar 20 tables at an average

price of ¥ 106 per table. Find the average price of all
the tables.

Th IHICIR 9T 65% dic & @I 98 2745 a8 |
Tt %87 | SEY Fol e dte Ug ?

A candidate wins the election by 2745 votes getting
65% votes. Find the total number of votes cast.

Ferr

(Or)
TG RT3 aRGRT TR 5% + 3% + 2% qeeT <ol & |
gee B AR AR AR B T FI I

A businessman allows 5% + 3% + 2% discount on his
goods. Find the real and nominal rates of discount.

Tt avg BT T 120 § 9T W 25% oM BT § | AT SN
TR I T 128 3 §@1 AW, AT foret gfera om gRm ?

There is a profit of 25% when an article is sold at
T 120. What will be the gain per cent if the article is
sold for ¥ 128 ?

1,900

(A-46)
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